£6 BRE

NEERES I OERKE—F

TR 294108 1HERE

6 /MNEEXIT/NE

= R

xr

- - A& (R IEF B IR 8 HEERDIER
EEEL | EREL PTEREERT m B HERZER RECHERT
E B|#E OE B E | I TBAE AN ENEGEE | ERE AT E O - |ERE AR S LOWNEHERE

BRERRE (%)
LRI
HFEDE

BEE e

PR TR (%)
ERREN 2P HRBE
LR L
QRRVAL ] HEB A

WRez7 V=7

EFE AN REWE 7 7 IV =2V =y
HLIANEL N B ERRREREL Y U = 7
AR U =y

YRR NI

WSS CORE - BNCdE R v X —2 T
@9 BUEA) | [FBIRET

I ERAERERT (REETHREE VS —W)
R NAAZ HANEHERT
EFENAA T &/ N ER
LN B PR
EFENHFAZ AL ORI 867 )V =y s
EFHENIZE SNy V= 7
EFRENHZ Ly X7 V=
A N OB BRI AR S EEWEY U =
V7

ERENAA S BB L ERRHERE

Al NRERHERE

PR N B S 2 N AL NARHEER
H—INFHERE

WOARZ Y=y

EFE AL Y = s
EFHENFA SN E S/ Y = s
TR 7 IV —2 U =y 7/NER
HILENT V=T
AT e v & —

_66_




£6 ENE
MR XIT/DNRAEZIZZS T 5EEEE—%)
Eﬁaz éﬁaz R & BRDA AR
EOE|EOE BB | TS RN TR, B | ST NSRRI LR U = 7
AEANTE R e | P R
R R RERPIRY TR
VR
EFRENAENNEZ E B V=
FENEZ YV =y
PR TR 7 U =
R NG X T2 7 U =
INEROKZ 7V =v s
SR AT e RPRHED
BEAMRI V=
352887 V=v7
SMWATFAINT ) =2
LR AT R
R N Rl
BERRE TSRS e
O T s | s e b ERTSEEREIRTT | SRR
BT R R TR A R 0T
TR AR TR 5 —
LESEL | T | SenTERE FERHSEE RGN % & 7B ) = o
REw AN I VAES ST W=7 SIEGREEE | R EE N\ E— T > RN
ST TEGENE b | T SRS
N TSI 5 — S TN \ 2
NERAIE RIS
T TS F T S\ iR L X —
J\ZEIT R E R RS It \
e INERHA S G S L S —T T
W7 T SRR BT
GR) AVERROVNEARHEIE 5. G0 NEAEHEIE S . Zoofl : NEEHEE S

_67_




